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CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : A
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I TeT9H 7 GRT g 15 T
797 32 81
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyTUF H e & 3 G R9 T e T_Y 7O G F
B FOT-JikTl & G- 97 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 G GEl, JoT H BB
e [
Before beginning to answer a question, its Serial
Number must be written.
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(2) 4203/(Set : A)
o Fu-gikTm & diF 7 @rll G/ 9 7 88/
Don’t leave blank page/pages in your answer-book.

o JuTyRTE % iR _#HE o e T Al o
ST & [rd ST frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GeETE ST T To FIT-IH T SavT i@
Candidates must write their Roll Number on the
question paper.

o ZYY J97] F FIT 37 G g7 I8 Glved B [# JT-
g7 7 7E &, ThEr # Iy a9y 7 g # aar
BT T&l [T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3
General Instruction :
(i) & FeT ST &
All questions are compulsory.

(i) 3G Fo7-07 7 F7 32 Fo7 & 7 [F X G 7
gaoTFae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B CandD:

4203/(Set : A)
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(3)  4203/(Set : A)

G 9 : 57 @ § 1 716 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G 39 @ 717 @21 T 75 797 &,
9% J97 3 37 # 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
% 997 4 3% F &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 J97 8,
T9% J97 5 37 T &

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ goq1 & o=ikE fAwew _RE 7 &
34 @ G Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4) 4203/(Set : A)
g - H
SECTION - A
1. 0.375ﬁ§%wﬁm2ﬁﬁm 1
Express 0.375 in the form g .

2. f&U T80 X% +7x+10 & IR H AR S HiOWI 1

Find the sum of zeroes of quadratic polynomial

x> +7x+10.

3. TIHCN x+y=14 N x-y=4 & x A y @

e ® 1
(A) x=9,y=4 B) x=9,y=5
(C) x=5,y=9 (D) ¥ § F§ T

The values of x and y from the equations

x+y=14 and x-y =4 are:
(A) x=9,y=4 (B) x=9,y=5

(C) x=5,y=9 (D) None of these

4203/(Set : A)
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(5)  4203/(Set : A)

4. 10,7, 4, oo, A.P. & 303 W ® : 1
(A) 77 (B) 87
©) -77 (D) & § HE T
30th term of the A.P. 10,7, 4, ........... is :
(A) 77 (B) 87
c =77 (D) None of these

5. 3, 1, =1, =3, weeererrernn AP. F HE-FR F
HifeTT 1
Find the common difference of the A.P. : 3, 1, -1,
=3, e .

6. HSH § RU =&l § § eI Ik H TGN B g, R

I H 9l 1

L1 1 AU B 2 (gatmem, qwe)

Fill in the blank using the correct word given in

bracket :

All circles are ........... (congruent, similar)
4203/(Set : A) P.T.O.
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(6) 4203/(Set : A)

7. A THEY BIE # g 409 B oTua § ¥l 3 Bt

% Sl B ST © 1
(A) 16:81 B) 8:18
(C) 81:16 (D) 12 : 27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 B) 8:18

(C) 81:16 (D) 12 : 27

. T g Q ¥ T g W Wl @1 # d=€E 24 cm G

Q % ¥ T 25 cm B g P B B 1
(A) 15cm B) 12 cm
(C) 24.5cm D) 7cm

From a point Q, the length of the tangent to a
circle is 24 cm and the distance of Q from the

centre is 25 cm. The radius of circle is :
(A) 15cm (B) 12 cm

(C) 24.5cm (D) 7cm

4203/(Set : A)
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(7) 4203/(Set : A)

9. R ®M &l yfdf Hifor : 1
el g @ W WM T . frgatl W
gfe8T HH Bl

Fill in the blank :

A tangent to a circle intersects it in .................

point(s).

10. (2, 3) ¥R (4, 1) [Agaft & 919 & g0 0 Hifom 1

Find the distance between the points (2, 3) and
(4, 1).

11. (7, 6) R (-3, —4) fogatt # P am@ J@n &1 7=
farg Fma Hifs) 1

Find the mid point of the line joining the points
(7, 6) and (-3, —-4).

sin18°

12. Pl HE FIG EFgli?lel 1
cos 72°
Evaluate : sinl8
cos 72°
4203/(Set : A) P.T.O.


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

http://www.bsehonline.com/

http://www.bsehonline.com/

(8) 4203/(Set : A)
13. AABC ¥, R5@®H #9T B G99 8, AB = 24 cm 3R

BC=7cm 8l sin A & 99 8 : 1
7 7

(A) 25 (B) 24
24 "

(C) 55 (D) ﬁaaﬁéﬂﬁ

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin A is :

7 7
(A) 25 (B) 22
(©) 24 (D) None of these

25

14. 6 cm PBedl i TF g0 % U BPoU@Us & &% S
FITY, e BT 60° B 1

Find the area of a sector of a circle with radius
6 cm, if angle of the sector is 60°.

15. g9, forae T =g, e X SHuE HEM 12 m, 10 m

3 8 m N M & : 1
(A) 592 m3 (B) 960 m3
(C) 480 m3 (D) TTH & iz 7@l

The volume of the cuboid, whose length, breadth
and height are 12 m, 10 m and 8 m respectively
is :

(A) 592 m3 (B) 960 m3
(C) 480 ms3 (D) None of these
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(9)  4203/(Set: A)

16. T UGl & TH G Bl AT 81 AN TGl b GEIRT
T 8 B &l TR S i 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 8.
gus - 9
SECTION - B

17. fos 3T B V2 ws emfdm e B 3

Prove that \/5 is irrational.

18. W p(x)=x>-3x?+5x-3 & TR g(x)=x*-2
Y AN FHITT ARG qT A% ST HifeTT 3

Divide the polynomial p(x)=x>-3x?+5x-3 by
the polynomial g(x)=x?-2. Find the quotient

and remainder.

19. 90 ¥l & TR Al TH dohl g ol UhH GH &
AR A W 1.2 H/q A 9@ § 70 W &l qS qd
90 & 3.6 M @ SR W B, T 4 FFT I& Iq ASH
P BET H TG A BT 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.
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(10) 4203/(Set : A)

20. AOPQ ¥, /&l #oT P g9 8, OP = 7 cm 9IX
OQ—PQ=lcm.sinQ3ﬁ'{cosQ%IIH§|'lﬁ
T 3

In AOPQ, right-angled at P, OP = 7 cm and
OQ - PQ = 1 cm. Determine the values of sin Q
and cos Q.

21. TF g & IR 7 HiQ R 8% 6.16 cm? 81 3

Find the circumference of a circle whose area is

6.16 cm?.
gus - 9
SECTION-C
22, & FHiN : 4
23 13w 2-4-
X Yy Xy
Solve :
2.3 13ana2-2-2
Xy Xy

23. T I SOH FHET 5x2-6x-2=0 & T
i) 4

Find the roots of the equation 5x2-6x-2=0
by the method of completing the square.
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(11) 4203/(Set : A)

24. UH U9 40 €9 TUH & AT A HC N 6 A
e B 4
Find the sum of the first 40 positive integers

divisible by 6.

25. % U W BT ABC & qHEU Th BIYSl & &
ﬁm,wwmwagaﬁwwaﬁzﬁg
=l 4
Construct a triangle to a given triangle ABC with
its sides equal to 3 of the corresponding sides
of the triangle ABC.

26. fgelt A(2, —2) 8iR B(-7, 4) & Sied a1 (@/ETS &l
q9-Rieid & ar faegetl & s o i 4

Find the co-ordinates of the points of trisection of
the line segment joining the points A(2, —2) and

B(-7, 4).
27. I THR ¥ B T 52 T B TH T H F TH G
fyerer ST B1 kA s @I 7 @E ww 4

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card

will :
(i) T geRRT B,
be an ace,
(i) T FRRN TE BN

not be an ace.
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(12) 4203/(Set : A)
gue - §
SECTION-D

28. TF ATAHR Td H 49 Igh Bl o & 60 Ho
s dar 51 A TS O B Yo § 30 Ho 3fE

F, @ AT B T S BT 5

The diagonal of a rectangular field is 60 metres
more than the shorter side. If the longer side is

30 metres more than the shorter side, find the

sides of the field.

29. 6 cm Bl & T g GifeT F= & 10 cm T e
T g 8 990 W @l @ gE # @A AT iR
I Al A 5
Draw a circle of radius 6 cm. From a point 10 cm

away from its centre, construct the pair of

tangents to the circle and measure their lengths.

30. T W 0% HMR FHEER Tl ol &l & & g 4,
St AR & TR 8 15 m R 8, MR & RER &
I & 60° Bl HAR & SHAR T e 5
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31.

4203/(Set : A)
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(13) 4203/(Set : A)

A tower stands vertically on the ground. From a
point on the ground, which is 15 m away from
the foot of the tower, the angle of elevation of the
top of the tower is found to be 60°. Find the
height of the tower.

HAYAT
OR
R #ifTe - 5
(cosec 6 — cot 0)? = 1-cos®
1+cos6
Prove that :
(cosec 8 — cot 6)? = 1-cos®
1+cosO

HE TG S FW H GOl & T @I AT & SAHR
H 8 Ed FW Th Gl SaT AGNNG 81 AN
F AE 14 cm & X 30 T B FA S 13 cm Bl
3H O B SMING TO B s HioTg| 5

A vessel open at the top is in the form of a hollow

hemisphere mounted by a hollow cylinder. The
diameter of the hemisphere is 14 cm and the
total height of the vessel is 13 cm. Find the inner

surface area of the vessel.

P.T.O.
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32. [T SRARAT S &1 A1ed &1 i 5
#W 100-120|120-140|140-160| 160-180| 180-200
FrSIear 12 14 8 6 10

Find the mean of the following frequency
distribution :

Class-Interval 100-120|120-140|140-160|160-180| 180-200
Frequency 12 14 8 6 10
HAYAT
OR

http://www.bsehonline.com/

frfofaa offes! @ Aftwm 525 B x X y # °qH
T HIW, AT FA TRIRAT 100 & :

4203/(Set : A)

F-T | R
0-100 2
100-200 5
200-300 x
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

5
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(15) 4203/(Set : A)

The median of the following data is 525. Find the
value of x and y, if the total frequency is 100 :

Class-Interval | Frequency
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 Y
700-800 9
800-900 7
900-1000 4
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